Annexure - XV ABSTRACT STATEMENT OF ELECTION EXPENSES PART - I M.Prabhaharan Name of Candidate 147, Perambalur (SC) Assembly Constituency Number and Name of Constituency Tamil Nadu Name of the State / Union Territory **General Election** Nature of Election Date of declaration of result 13.05.2011 Name and address of the election agent R.Ramesh M.Ravi PART - II I. Were you a condidate set up by a Political Party? Yes Dravida Munnerta II. If yes, name of the party Kazhagam III. Is the Party a recognised Political Party? Yes IV.If recognized political party, whether National/State State Party Yes. Publication Materials given by the party. The List your election?

V. Has your party incurred / authorized expenses in

given by the party is enclosed. Value of materials are available with us. The party will submit their account include the cost of these materials

VI.Any other association / body of persons / individual incurred / authorized expenses in your election?

No

No

VII.If yes, give its / his / their name(s) and complete address

STRACT STATEMENT OF EXPEN	DITURE ON ELECT	PART - III FION BY THE CA	NDIDTE / HIS			
		ELECTION AGE				
	Expenditure in		504500	Total Expenses		
	Candidate/	Policatal	Any other			
Item of Expenditure	his	Party	Association / Body	incurred / Authorised (Total of Columns 2,		
	Election	which	of Persons / individual	3 and 4)		
	Agent	set him up	ar around marviadar	3 and 4)		
1	2	3	4	5		
1 Public meetings,						
processtions etc.,	8,000	-	98,872	106,87		
2 Campaign materials		- Name - Inc.				
like handbills, posters,	80,120		116,210	196,33		
video and audio				150,55		
cassettes			7.2.	**		
3 Campaign through						
electronic / print media						
(including cable						
network) Mike set	98,461			98,46		
				. 50,40		
4 Vehicles used and POL						
expenditure on such	329,000	-		329,00		
Vehicles				323,00		
5 Erection of gates, arches	7,900			7,90		
cutouts, banners etc.,				.,50		
6 Visits of 'leaders' to the						
constituency other than						
the expenditure on the						
travel of 'Leaders' as	67.005					
defined in Explanation 2	67,025	-	111,970	178,99		
under Section 77 (1) for						
propagating programme						
of the				•		
7 Visit of other party						
functionaries						
Expenses on Campaign	53,480					
workers	33,460			53,480		
Other misc. expenses				5 to 10 to 1		
NJS, Security Deposit	15,370		396,418	444 704		
Grand Total	659,356		723,470	411,78		
Lum-sum grant receiv			723,470	1,382,826		
L Political Party			NA			
2 Any other association / body	(with		NA			
its name and address)						
	* **	The second second				

Note: The difference between Candidate;s Account and Shadow Register is shown as expenses met by Individuals

NA

3 Any individual (with name and address)

PART - IV DETAILS OF EXPENDITURE ON VEHICLES USED

Details of expenditure on all vehicles used in connection with the election including the vehicles supplied to candidate by his Political Party or any other association / organization / body or by any other individual are required to be shown. The only exception is the expense incurred in connection with travel of 'leaders' of political party for propagating programme of political party covered by Explanations 1 and 2 under Section 77 (1).

D			Rate for hiring					Break-up of total expenditure			
Regn.	N. C.		Rate for Fuel Driver's			No. of	Total	of Column 6			
No. of	vehicle	Permit No.	2013	charges	charges/	days for	amount	Amount	Amount	Amount	
vehicle		issued by	vehicle/	(if not	(if not	which	incurred	spent by	spent by	spent by	
		R.O	mainten-	covered	covered	used		the	the	any other	
		1.00	ance	under	under			candidate/	S 8	association	
			- *	hiring)	hiring)			Election	Party	body of	
				i a			1200	Agent	l. ditty	persons/	
	1 1 1 1 1									individual	
1	2	3	4a	4b	4c	5	6	7	8	9	
TNACDO											
TN46R8	Innova		1,800	-	-	6	10,800	10,800		1	
TN46L7	Scorpio		1,700	-		8	13,600	13,600	_		
TN46H6663	Sumo		1,700	, a c ,	-	18	30,600	30,600			
TN45AJ1890	Sumo		1,700	* - V		8	13,600	13,600			
TN45AJ1890	Sumo		1,600	* _ *		1	1,600	1,600		,	
TN07Al3939	Scorpio		1,700		<u> 2</u>	10	17,000	17,000			
TN07Al3939	Scorpio		1,800	-	Your Kines	5	9,000	9,000			
Tn37V9813	Sumo		1,700	1		15	25,500	25,500	<u>.</u>	_	
Tn37V9813	Sumo		1,600	- 1	-	1	1,600	1,600	_		
TN46F7395	Mahindra		1,700		-	14	23,800	23,800	- 12	5	
TN46F1188	Sumo		1,700		· · ·	12	20,400	20,400			
TN46E5834	Sumo		1,700		- 1	13	22,100	22,100			
TN46E5834	Sumo		1,600	-	_	1	1,600	1,600			
TN51C1184	Sumo	v = 2	1,700	-		8	13,600	13,600	_		
TN51C1184	Sumo		1,800	-		5	9,000	9,000			
TN46J1729	Sumo		1,700	1 - 1	-	13	-22,100	22,100			
TN46J1729	Sumo		1,600		-	2	3,200	3,200	_		
TN46S7777	Scorpio		1,700	-	v =y/1	13	22,100	22,100	_		
TN46S7777	Scorpio		1,600	1	100	1	1,600	1,600			
TN46M8	Scorpio		1,700			7	11,900	11,900			
TN46F0129	Sumo		1,700			5	8,500	8,500			
TN61-2266	Safari		1,700	-		1	1,700	1,700	1 2 2 1	- 12	
ΓN61C6474	Innova	1,30	1,700			2	3,400	3,400			
TN46J8877	Sumo		1,700	_	-	5	8,500	8,500			
ΓN46K4132	Sumo		1,700	-	-	5	8,500	8,500	2 20	-	
TN46K3550	Sumo		1,700		_	5	8,500	8,500		¥3 7 3 ,a	
TN46C007	Sumo		1,700	-	-	7	11,900	11,900	-	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	
and the second second second second	Sumo		1,700			1	1,700	1,700		1 Tay	
TN46M009	Bolureo		1,600	-		1	1,600	1,600			
v	10 m	T es	-	-			_	2,000		-	

Grand total of Column 6: Rs.

329,000

PART - V

DETAILS OF EXPENDITURE ON PUBLIC MEETINGS / RALLIES

(Each Public meeting / Rally / Procession held by the candidate / his election agent / his political party / any other association / organisation / body / any other individual on behalf of the candidate should be mentioned in this format)

Total number of public meeting / rallies / processions :

Total expenditure :

Rs.		
-----	--	--

1	2	3	4			5	6	7	
Date of public meeting / Rally	Address of venue	Name of Authority from whom permission obtained		ture on Pub allies / Proce		Amount incurred by candidate/ Election	by Political party and name of	Amount incurred by any Association body/ individual and names of such persons	
	Name of the Star No. and Campaign Date of permission side Dignitary (If any)		Description	Quantity	Rate per unit	Total amount			agent
30.03.11 31.03.11 03.04.11	Veeramani Kanimozhi Kushpu		Erecting Pandal & Fixtures			-	182,100	_	* = = :
07.04.11 09.04.11	Thirumaval Ramadoss	avan	Arches & Barricading			-	-	-	-
11.04.11	Neoplean		Hiring furniture			-	4,000	-	-
			Hiring loud- speakers & Microphones				32,700	-	-
			Posters			-	3,200	-	-
			Banners			-	-	-	-
			Cut-outs			-	H -	-	*** =
			Digital Board			_	6,000	-	_
			Illumination items like serial lights etc.				18,200	-	-
			Power con- nection charges paid/paya- ble to EB etc.			•	21,000		
			Rent for venue					-	-
			Other misc expenses				18,667		-

Dated:

11.06.2011

Total.....

285,867

Signature of candidate

PART - VI DETAILS OF EXPENDITURE ON TRAVEL OF LEADER(S) OF THE PARTY NOMINATED IN TERMS OF EXPLANATION (2)' UNDER SECTION 77 (1) OF THE REPRESENTATION OF THE PEOPLE ACT, 1951

	2.4		Arrival		Doto	::I C C :				101, 1931	
			details			ails of Stay	Dep	arture det	ails		
SL.No.	Name of Leader	Date of arrival in Constituency	Mode of travel	Expenditure on Fare paid (if known)	Duration of Halt in Constituency	Expenditure on local journeys	Date of departure from Constituency	Mode of travel	Expenditure on Fare paid (if known)	Whether Expenditure on item (5), (7) and (10) incurred by Candidate, Political Party or others specify	Expenditure if any on Items (5), (7) and (10) by candidate
	Veeramani	30.03.11	Car	5	6	7	8	9	10	11	12
2 3 4 7 5 F	Kanimozhi Kuspu	31.03.11 03.04.11 07.04.11 09.04.11	Car Car Car Car			-	30.03.11 31.03.11 07.04.11 09.04.11 11.04.11	Car Car Car Car			
											2
						T	otal Expendit	ure:	-	, -	

Place : Perambalur

Date :

11.06.2011

Signature of Contesting Candidate

M.Prabhaharan